

Tingting Wang; Wenpeng Zhang

On the mean value of Dedekind sum weighted by the quadratic Gauss sum

*Czechoslovak Mathematical Journal*, Vol. 63 (2013), No. 2, 357–367

Persistent URL: <http://dml.cz/dmlcz/143316>

## Terms of use:

© Institute of Mathematics AS CR, 2013

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* <http://dml.cz>

ON THE MEAN VALUE OF DEDEKIND SUM WEIGHTED BY THE  
QUADRATIC GAUSS SUM

TINGTING WANG, WENPENG ZHANG, Xi'an

(Received June 23, 2011)

*Abstract.* Various properties of classical Dedekind sums  $S(h, q)$  have been investigated by many authors. For example, Wenpeng Zhang, On the mean values of Dedekind sums, J. Théor. Nombres Bordx, 8 (1996), 429–442, studied the asymptotic behavior of the mean value of Dedekind sums, and H. Rademacher and E. Grosswald, Dedekind Sums, The Carus Mathematical Monographs No. 16, The Mathematical Association of America, Washington, D.C., 1972, studied the related properties. In this paper, we use the algebraic method to study the computational problem of one kind of mean value involving the classical Dedekind sum and the quadratic Gauss sum, and give several exact computational formulae for it.

*Keywords:* Dedekind sum, quadratic Gauss sum, mean value, identity

*MSC 2010:* 11L40, 11F20

## 1. INTRODUCTION

Let  $q$  be a natural number and  $h$  an integer prime to  $q$ . The classical Dedekind sum

$$S(h, q) = \sum_{a=1}^q \left( \left( \frac{a}{q} \right) \right) \left( \left( \frac{ah}{q} \right) \right),$$

where

$$\left( \left( x \right) \right) = \begin{cases} x - [x] - \frac{1}{2}, & \text{if } x \text{ is not an integer;} \\ 0, & \text{if } x \text{ is an integer,} \end{cases}$$

describes the behaviour of the logarithm of the eta-function (see [6], [7]) under modular transformations. Several authors have studied the arithmetical properties of

---

The research has been supported by the N. S. F. (11071194) and G. I. C. F. (YZZ12065) of NWU.

$S(h, q)$ , and obtained many interesting results, see for example [2], [3], [4], [5], [8], [9], [10].

In this paper, we consider the computational problem of the mean value

$$(1.1) \quad \sum_{c=1}^q{}' G(c^2 - 1, \chi_0; q) S(c^2, q),$$

where  $G(c, \chi; q)$  is the quadratic Gauss sum defined by  $G(c, \chi; q) = \sum_{a=1}^q \chi(a) e(ca^2/q)$ ,  $e(y) = e^{2\pi iy}$ ,  $\sum_c'$  denotes the summation over all  $a$  such that  $(a, q) = 1$ ,  $\chi_0$  denotes the principal character mod  $q$ .

About the mean value (1.1), it seems that none has studied it yet, at least we have not seen any related results before. This sum is interesting, because it has close relations with the class number  $h_p$  of the quadratic field  $\mathbf{Q}(\sqrt{-p})$ . In this paper, we use the algebraic method to study the computational problem of (1.1), and give several exact identities for it. That is, we shall prove the following three results:

**Theorem 1.** *Let  $p$  be an odd prime with  $p \equiv 3 \pmod{4}$ , then for  $q = p^\alpha$  with integer  $\alpha \geq 2$ , we have the identity*

$$\sum_{c=1}^q{}' G(c^2 - 1, \chi_0; q) S(c^2, q) = \frac{1}{6} \varphi^2(q) \left(1 + \frac{1}{p}\right).$$

**Theorem 2.** *For any prime  $p > 3$  with  $p \equiv 3 \pmod{4}$ , we have the identity*

$$h_p^2 = \frac{(p-1)(p-2)}{6} - \sum_{c=1}^{p-1} G(c^2 - 1, \chi_0; p) S(c^2, p).$$

**Theorem 3.** *Let  $p$  be an odd prime with  $p \equiv 3 \pmod{4}$ , then for  $q = p^\alpha$  with integer  $\alpha \geq 2$  and real number  $k \geq 0$ , we have the identity*

$$\sum_{\substack{\chi \pmod{q} \\ \chi(-1) = -1}} |G(1, \chi^2; q)|^{2k} \cdot |L(1, \chi)|^2 = \frac{4^k \cdot \pi^2}{24} \cdot \varphi^3(q) \cdot q^{k-2} \cdot \left(1 + \frac{1}{p}\right),$$

where  $\sum_{\substack{\chi \pmod{q} \\ \chi(-1) = -1}}$  denotes the summation over all odd characters  $\chi \pmod{q}$ .

**Some remarks.** Theorem 2 is very interesting. In fact it gives a new class number formula for  $h_p$  with  $p \equiv 3 \pmod{4}$ .

For the general odd square-full number  $q \geq 3$ , whether there exist computational formulae for  $\sum_{c=1}^q G(c^2 - 1, \chi_0; q)S(c^2, q)$  and  $\sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}} |G(1, \chi^2; q)|^{2k} \cdot |L(1, \chi)|^2$  are two open problems.

## 2. SEVERAL LEMMAS

In this section we give several lemmas which are necessary in the proof of our theorems.

**Lemma 1.** *Let  $q > 2$  be an integer, then for any integer  $a$  with  $(a, q) = 1$  we have the identity*

$$S(a, q) = \frac{1}{\pi^2 q} \sum_{d|q} \frac{d^2}{\varphi(d)} \sum_{\substack{\chi \bmod d \\ \chi(-1)=-1}} \chi(a) |L(1, \chi)|^2.$$

*Proof.* See Lemma 2 of [10]. □

**Lemma 2.** *Let  $q > 2$  be an odd square-full number, then we have the identity*

$$\sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^* |L(1, \chi)|^2 = \frac{\pi^2}{12} \frac{\varphi^3(q)}{q^2} \prod_{p|q} \left(1 + \frac{1}{p}\right),$$

where  $\sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^*$  denotes the summation over all odd primitive characters  $\chi \bmod q$ .

*Proof.* From the definition of Dedekind sums, Lemma 1 and the Möbius inversion formula (see Theorem 2.9 of [1]) we have

$$(2.1) \quad \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}} \chi(a) |L(1, \chi)|^2 = \frac{\varphi(q)}{q^2} \pi^2 \sum_{d|q} \mu(d) \frac{q}{d} S\left(a, \frac{q}{d}\right) = \pi^2 \frac{\varphi(q)}{q} \sum_{d|q} \frac{\mu(d)}{d} S\left(a, \frac{q}{d}\right).$$

If  $a = 1$ , then it is easy to see that

$$S(1, q) = \sum_{k=1}^{q-1} \left(\frac{k}{q} - \frac{1}{2}\right)^2 = \frac{1}{12} \left(q - 3 + \frac{2}{q}\right).$$

So from this formula and (2.1) we have

$$\begin{aligned}
 (2.2) \quad \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}} |L(1, \chi)|^2 &= \frac{\pi^2}{12} \frac{\varphi(q)}{q} \sum_{d|q} \frac{\mu(d)}{d} \left( \frac{q}{d} - 3 + \frac{2d}{q} \right) \\
 &= \frac{\pi^2}{12} \varphi(q) \sum_{d|q} \frac{\mu(d)}{d^2} - \frac{\pi^2}{4} \frac{\varphi(q)}{q} \sum_{d|q} \frac{\mu(d)}{d} + \frac{\pi^2}{6} \frac{\varphi(q)}{q^2} \sum_{d|q} \mu(d) \\
 &= \frac{\pi^2}{12} \frac{\varphi^2(q)}{q} \left[ \prod_{p|q} \left( 1 + \frac{1}{p} \right) - \frac{3}{q} \right].
 \end{aligned}$$

Note that  $q$  is a square-full number,  $\mu(q)$  and  $\varphi(q)$  are two multiplicative functions,

$$\sum_{d|q} \mu(d) \frac{\varphi^2(q/d)}{q^2/d^2} = 0 \quad \text{and} \quad \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}} |L(1, \chi)|^2 = \sum_{d|q} \sum_{\substack{\chi \bmod q/d \\ \chi(-1)=-1}}^* |L(1, \chi\chi_0)|^2.$$

From the Möbius inversion formula and (2.2) we immediately deduce

$$\begin{aligned}
 \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^* |L(1, \chi)|^2 &= \sum_{d|q} \mu(d) \sum_{\substack{\chi \bmod q/d \\ \chi(-1)=-1}} |L(1, \chi\chi_0)|^2 \\
 &= \sum_{d|q} \mu(d) \sum_{\substack{\chi \bmod q/d \\ \chi(-1)=-1}} |L(1, \chi)|^2 \\
 &= \sum_{d|q} \mu(d) \left\{ \frac{\pi^2}{12} \frac{\varphi^2(q/d)}{q/d} \left[ \prod_{p|q/d} \left( 1 + \frac{1}{p} \right) - \frac{3}{q/d} \right] \right\} \\
 &= \frac{\pi^2}{12} \frac{\varphi^3(q)}{q^2} \prod_{p|q} \left( 1 + \frac{1}{p} \right),
 \end{aligned}$$

where  $\chi_0$  denotes the principal character mod  $q$ . This proves Lemma 2. □

**Lemma 3.** *Let  $p$  be an odd prime,  $\alpha \geq 2$  an integer. Then for any integer  $n$  with  $(p, n) = 1$ , we have the identity*

$$\sum_{b=1}^{p^\alpha} e\left(\frac{nb^2}{p^\alpha}\right) = 0.$$

*Proof.* First, from the properties of the trigonometric sums we know that for any positive integer  $h \geq 2$  and integer  $n$  with  $(n, h) = 1$ , we have the identity

$$\sum_{u=0}^{h-1} e\left(\frac{un}{h}\right) = 0.$$

Applying this identity and the properties of the reduced residue system mod  $p^\alpha$  we have the identity

$$\begin{aligned} \sum'_{b=1}^{p^\alpha} e\left(\frac{nb^2}{p^\alpha}\right) &= \sum_{u=0}^{p-1} \sum'_{v=1}^{p^{\alpha-1}} e\left(\frac{n(up^{\alpha-1} + v)^2}{p^\alpha}\right) = \sum_{u=0}^{p-1} \sum'_{v=1}^{p^{\alpha-1}} e\left(\frac{2nuvp^{\alpha-1} + nv^2}{p^\alpha}\right) \\ &= \sum'_{v=1}^{p^{\alpha-1}} e\left(\frac{nv^2}{p^\alpha}\right) \sum_{u=0}^{p-1} e\left(\frac{2nuv}{p}\right) = 0. \end{aligned}$$

This proves Lemma 3. □

**Lemma 4.** *Let  $p$  be an odd prime with  $p \equiv 3 \pmod{4}$ , let  $\alpha$  and  $n$  be two integers with  $(n, p) = 1$  and  $\alpha \geq 2$ . Then for any even character  $\chi \pmod{p^\alpha}$ , we have*

$$|G(n, \chi; p^\alpha)|^2 = 2\varphi(p^\alpha) + 2p^{\alpha-1} \sum_{r=1}^{p-1} \chi(rp^{\alpha-1} + 1) \left[ \left(\frac{2rn}{p}\right) C(1, p) - 1 \right],$$

where  $C(n, q) = \sum_{a=1}^q e(na^2/q)$  is the classical quadratic Gauss sum.

*Proof.* Since  $\chi$  is an even character mod  $p^\alpha$ , so  $\chi(-1) = 1$ . Then from the definition of  $G(n, \chi; p^\alpha)$  we have

$$\begin{aligned} (2.3) \quad |G(n, \chi; p^\alpha)|^2 &= \sum_{a=1}^{p^\alpha} \sum'_{b=1}^{p^\alpha} \chi(a) \bar{\chi}(b) e\left(\frac{n(a^2 - b^2)}{p^\alpha}\right) \\ &= \sum_{a=1}^{p^\alpha} \chi(a) \sum'_{b=1}^{p^\alpha} e\left(\frac{nb^2(a^2 - 1)}{p^\alpha}\right). \end{aligned}$$

Let  $(a^2 - 1, p^\alpha) = p^m$ . If  $m \leq \alpha - 2$ , then note that  $(n(a^2 - 1)/p^m, p) = 1$ , and from Lemma 3 we have

$$(2.4) \quad \sum'_{u=1}^{p^\alpha} e\left(\frac{nu^2(a^2 - 1)}{p^\alpha}\right) = p^m \sum'_{u=1}^{p^{\alpha-m}} e\left(\frac{nu^2(a^2 - 1)/p^m}{p^{\alpha-m}}\right) = 0.$$

If  $m = \alpha$ , then

$$(2.5) \quad \sum'_{u=1}^{p^\alpha} e\left(\frac{nu^2(a^2 - 1)}{p^\alpha}\right) = \varphi(p^\alpha).$$

If  $m = \alpha - 1$ , then  $a = rp^{\alpha-1} \pm 1$ ,  $1 \leq r \leq p - 1$ . Note that for any prime  $p$  with  $p \nmid n$ , by Theorem 7.5.4 of [10] we have

$$(2.6) \quad C(n, p) = \left(\frac{n}{p}\right)C(1, p),$$

where  $\left(\frac{x}{p}\right)$  is the Legendre symbol.

Then from (2.6) we get

$$(2.7) \quad \begin{aligned} \sum_{u=1}^{p^\alpha}' e\left(\frac{nu^2(a^2 - 1)}{p^\alpha}\right) &= p^{\alpha-1} \sum_{u=1}^{p'} e\left(\frac{nu^2(a^2 - 1)/p^{\alpha-1}}{p}\right) \\ &= p^{\alpha-1} \left[ \left(\frac{\pm 2rn}{p}\right)C(1, p) - 1 \right]. \end{aligned}$$

Note that for any even character  $\chi \bmod p^\alpha$ , we have

$$\sum_{r=1}^{p-1} \chi(rp^{\alpha-1} + 1) \left[ \left(\frac{2rn}{p}\right)C(1, p) - 1 \right] = \sum_{r=1}^{p-1} \chi(rp^{\alpha-1} - 1) \left[ \left(\frac{-2rn}{p}\right)C(1, p) - 1 \right].$$

So from (2.3)–(2.7) we get

$$|G(n, \chi; p^\alpha)|^2 = 2\varphi(p^\alpha) + 2p^{\alpha-1} \sum_{r=1}^{p-1} \chi(rp^{\alpha-1} + 1) \left[ \left(\frac{2rn}{p}\right)C(1, p) - 1 \right].$$

This proves Lemma 4. □

**Lemma 5.** *Let  $p$  be an odd prime, let  $\alpha$  and  $n$  be two integers with  $(n, p) = 1$  and  $\alpha \geq 2$ . Then for any even primitive character  $\chi \bmod p^\alpha$ , we have the identity*

$$|G(n, \chi; p^\alpha)|^2 = 2p^\alpha + 2p^\alpha \left(\frac{-2n}{p}\right) \frac{\tau(\overline{\chi}\chi_2)}{\tau(\overline{\chi})},$$

where  $\chi_2(a) = \left(\frac{a}{p}\right)$  is the Legendre symbol, and  $\tau(\chi) = \sum_{a=1}^{p^\alpha} \chi(a)e(a/p^\alpha)$  denotes the classical Gauss sum.

**Proof.** First, for any primitive character  $\chi \bmod p^\alpha$  we have

$$(2.8) \quad \sum_{r=1}^{p-1} \chi(rp^{\alpha-1} + 1) = -1.$$

In fact, from the properties of the classical Gauss sum we have

$$\begin{aligned} \sum_{r=1}^{p-1} \chi(rp^{\alpha-1} + 1) &= \frac{1}{\tau(\bar{\chi})} \sum_{r=1}^{p-1} \sum_{a=1}^{p^\alpha} \bar{\chi}(a) e\left(\frac{a(rp^{\alpha-1} + 1)}{p^\alpha}\right) \\ &= \frac{1}{\tau(\bar{\chi})} \sum_{a=1}^{p^\alpha} \bar{\chi}(a) e\left(\frac{a}{p^\alpha}\right) \sum_{r=1}^{p-1} e\left(\frac{ar}{p}\right) = -\frac{\tau(\bar{\chi})}{\tau(\bar{\chi})} = -1. \end{aligned}$$

So formula (2.8) is correct.

On the other hand, from the properties of the classical Gauss sum we also have

$$\begin{aligned} (2.9) \quad \sum_{r=1}^{p-1} \chi(rp^{\alpha-1} + 1) \binom{r}{p} &= \frac{1}{\tau(\bar{\chi})} \sum_{r=1}^{p-1} \binom{r}{p} \sum_{a=1}^{p^\alpha} \bar{\chi}(a) e\left(\frac{a(rp^{\alpha-1} + 1)}{p^\alpha}\right) \\ &= \frac{1}{\tau(\bar{\chi})} \sum_{a=1}^{p^\alpha} \bar{\chi}(a) e\left(\frac{a}{p^\alpha}\right) \sum_{r=1}^{p-1} \binom{r}{p} e\left(\frac{ar}{p}\right) \\ &= \frac{C(1, p)}{\tau(\bar{\chi})} \sum_{a=1}^{p^\alpha} \bar{\chi}(a) \binom{a}{p} e\left(\frac{a}{p^\alpha}\right) = \frac{\tau(\bar{\chi}\chi_2)}{\tau(\bar{\chi})} C(1, p), \end{aligned}$$

where we have used the identity  $C(1, p) = \sum_{a=1}^{p-1} \binom{a}{p} e\left(\frac{a}{p}\right)$ .

From the properties of the classical Gauss sum we know that  $C^2(1, p) = \left(\frac{-1}{p}\right)p$ ; applying (2.8), (2.9) and Lemma 4 we immediately deduce that

$$\begin{aligned} |G(n, \chi; p^\alpha)|^2 &= 2\varphi(p^\alpha) + 2p^{\alpha-1} + 2p^{\alpha-1} \sum_{r=1}^{p-1} \chi(rp^{\alpha-1} + 1) \binom{2rn}{p} C(1, p) \\ &= 2p^\alpha + 2p^{\alpha-1} \binom{2n}{p} \frac{\tau(\bar{\chi}\chi_2)}{\tau(\bar{\chi})} C^2(1, p) \\ &= 2p^\alpha + 2p^\alpha \left(\frac{-2n}{p}\right) \frac{\tau(\bar{\chi}\chi_2)}{\tau(\bar{\chi})}. \end{aligned}$$

This proves Lemma 5. □

### 3. PROOF OF THE THEOREMS

In this section, we use the lemmas from Section 2 to complete the proof of our theorems. First we prove Theorem 1. From Lemma 4 we know that for any non-primitive even character  $\chi \pmod{p^\alpha}$ , we have

$$(3.1) \quad |G(n, \chi; p^\alpha)|^2 = 0.$$



In fact, if  $\chi = \chi_0$ , the principal character mod  $p^\alpha$ , then from Lemma 3 we know that (3.1) is correct. If  $\chi$  is a non-primitive even character mod  $p^\alpha$  and  $\chi \neq \chi_0$ , then  $\chi$  must be an even character mod  $p^{\alpha-1}$ . So from Lemma 4 we have

$$\begin{aligned} |G(n, \chi; p^\alpha)|^2 &= 2\varphi(p^\alpha) + 2p^{\alpha-1} \sum_{r=1}^{p-1} \chi(rp^{\alpha-1} + 1) \left[ \left( \frac{2rn}{p} \right) G(1; p) - 1 \right] \\ &= 2\varphi(p^\alpha) + 2p^{\alpha-1} \sum_{r=1}^{p-1} \left[ \left( \frac{2rn}{p} \right) G(1; p) - 1 \right] \\ &= 2p^{\alpha-1} \sum_{r=1}^{p-1} \left( \frac{2rn}{p} \right) C(1, p) = 0. \end{aligned}$$

So (3.1) is also correct.

For  $q = p^\alpha$  with  $\alpha \geq 2$  and  $\chi \bmod q$ , note that the Gauss sum  $\tau(\chi) = \sum_{a=1}^q \chi(a)e(\frac{a}{q}) = 0$ , if  $\chi$  is not a primitive character mod  $q$ ; if  $\chi$  is a primitive character mod  $q$ , then we have  $|\tau(\chi)|^2 = q$ . So from Lemma 1 we have

$$\begin{aligned} (3.2) \quad & \sum_{c=1}^q G(c^2 - 1, \chi_0; q) S(c^2, q) \\ &= \frac{1}{\pi^2 q} \sum_{\substack{d|q \\ \frac{d^2}{\varphi(d)} \sum_{\substack{\chi \bmod d \\ \chi(-1)=-1}}}} \sum_{c=1}^q \sum_{a=1}^q \chi(c^2) e\left(\frac{a^2(c^2 - 1)}{q}\right) |L(1, \chi)|^2 \\ &= \frac{1}{\pi^2 q} \sum_{\substack{d|q \\ \frac{d^2}{\varphi(d)} \sum_{\substack{\chi \bmod d \\ \chi(-1)=-1}}}} \sum_{a=1}^q e\left(\frac{-a^2}{q}\right) \sum_{c=1}^q \chi(c^2) e\left(\frac{a^2 c^2}{q}\right) |L(1, \chi)|^2 \\ &= \frac{1}{\pi^2 q} \sum_{\substack{d|q \\ \frac{d^2}{\varphi(d)} \sum_{\substack{\chi \bmod d \\ \chi(-1)=-1}}}} \sum_{a=1}^q \bar{\chi}(a^2) e\left(\frac{-a^2}{q}\right) \sum_{c=1}^q \chi((ac)^2) e\left(\frac{(ac)^2}{q}\right) |L(1, \chi)|^2 \\ &= \frac{1}{\pi^2 q} \sum_{d|q} \frac{d^2}{\varphi(d)} \sum_{\substack{\chi \bmod d \\ \chi(-1)=-1}} \left| \sum_{c=1}^q \chi(c^2) e\left(\frac{c^2}{q}\right) \right|^2 \cdot |L(1, \chi)|^2 \\ &= \frac{1}{\pi^2 q} \sum_{d|q} \frac{d^2}{\varphi(d)} \sum_{\substack{\chi \bmod d \\ \chi(-1)=-1}} |G(1, \chi^2 \chi_0; q)|^2 \cdot |L(1, \chi)|^2. \end{aligned}$$

It is clear that if  $\chi$  is an odd primitive character mod  $p^\alpha$  with  $\alpha \geq 2$  and  $p \equiv 3 \pmod{4}$ , then  $\chi^2$  is an even primitive character mod  $p^\alpha$ . So from (3.1), (3.2) and Lemma 5

we get

$$\begin{aligned}
 (3.3) \quad & \sum_{c=1}^q G(c^2 - 1, \chi_0; q) S(c^2, q) \\
 &= \frac{1}{\pi^2} \frac{q}{\varphi(q)} \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^* |G(1, \chi^2; q)|^2 \cdot |L(1, \chi)|^2 \\
 &= \frac{2}{\pi^2} \frac{q^2}{\varphi(q)} \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^* \left( 1 + \left( \frac{-2}{p} \right) \frac{\tau(\overline{\chi^2} \chi_2)}{\tau(\overline{\chi^2})} \right) \cdot |L(1, \chi)|^2.
 \end{aligned}$$

From Lemma 5 we also know that  $(\frac{-2}{p})\tau(\overline{\chi^2}\chi_2)/\tau(\overline{\chi^2})$  is a real number, so noting that  $\overline{\tau(\chi)} = \overline{\chi}(-1)\tau(\overline{\chi})$ , from (3.3) we have

$$\begin{aligned}
 (3.4) \quad & \sum_{c=1}^q G(c^2 - 1, \chi_0; q) S(c^2, q) \\
 &= \frac{2}{\pi^2} \frac{q^2}{\varphi(q)} \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^* \left( 1 + \left( \frac{-2}{p} \right) \frac{\overline{\tau(\overline{\chi^2} \chi_2)}}{\tau(\overline{\chi^2})} \right) \cdot |L(1, \overline{\chi})|^2 \\
 &= \frac{2}{\pi^2} \frac{q^2}{\varphi(q)} \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^* \left( 1 + \left( \frac{2}{p} \right) \frac{\tau(\chi^2 \chi_2)}{\tau(\chi^2)} \right) \cdot |L(1, \overline{\chi})|^2 \\
 &= \frac{2}{\pi^2} \frac{q^2}{\varphi(q)} \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^* \left( 1 - \left( \frac{-2}{p} \right) \frac{\tau(\overline{\chi^2} \chi_2)}{\tau(\overline{\chi^2})} \right) \cdot |L(1, \chi)|^2,
 \end{aligned}$$

where we have used the identity  $(\frac{-1}{p}) = -1$ .

Combining (3.3), (3.4) and Lemma 2 we immediately deduce the identity

$$\sum_{c=1}^q G(c^2 - 1, \chi_0; q) S(c^2, q) = \frac{2}{\pi^2} \frac{q^2}{\varphi(q)} \sum_{\substack{\chi \bmod q \\ \chi(-1)=-1}}^* |L(1, \chi)|^2 = \frac{1}{6} \varphi^2(q) \left( 1 + \frac{1}{p} \right).$$

This proves Theorem 1. □

Now we prove Theorem 2. For any prime  $p \equiv 3 \pmod{4}$ , let  $\chi_2$  denote the Legendre symbol, then  $\chi_2(-1) = -1$ , so from Theorem 9.17 of [1] and Lemma 1 we have

$$(3.5) \quad \left| \sum_{c=1}^{p-1} \chi_2(c^2) e\left(\frac{c^2}{p}\right) \right|^2 = |i\sqrt{p} - 1|^2 = p + 1,$$

$$(3.6) \quad \sum_{\substack{\chi \bmod p \\ \chi(-1)=-1}} |L(1, \chi)|^2 = \frac{\pi^2 (p-1)^2 (p-2)}{12 p^2}.$$

If  $\chi(-1) = -1$  and  $\chi \neq \chi_2$ , noting that  $\chi_2(-1) = -1$ , we also have

$$\begin{aligned}
 (3.7) \quad \left| \sum_{c=1}^{p-1} \chi(c^2) e\left(\frac{c^2}{p}\right) \right|^2 &= \left| \sum_{c=1}^{p-1} \chi(c) \left(1 + \chi_2(c)\right) e\left(\frac{c}{p}\right) \right|^2 \\
 &= |\tau(\chi) + \tau(\chi\chi_2)|^2 = p \cdot \left| 1 + \frac{\tau(\chi\chi_2)}{\tau(\chi)} \right|^2 \\
 &= p \cdot \left( 2 + \frac{\tau(\chi\chi_2)}{\tau(\chi)} + \frac{\overline{\tau(\chi\chi_2)}}{\overline{\tau(\chi)}} \right) \\
 &= p \cdot \left( 2 + \frac{\tau(\chi\chi_2)}{\tau(\chi)} - \frac{\tau(\overline{\chi}\chi_2)}{\tau(\overline{\chi})} \right).
 \end{aligned}$$

Combining (3.2), (3.5), (3.6), (3.7) and noting that  $L(1, \chi_2) = \pi h_p / \sqrt{p}$ , we have

$$\begin{aligned}
 &\sum_{c=1}^{p-1} G(c^2 - 1, \chi_0; p) S(c^2, p) \\
 &= \frac{1}{\pi^2} \frac{p^2}{p-1} \sum_{\substack{\chi \neq \chi_2 \\ \chi(-1) = -1}} \left( 2 + \frac{\tau(\chi\chi_2)}{\tau(\chi)} - \frac{\tau(\overline{\chi}\chi_2)}{\tau(\overline{\chi})} \right) \cdot |L(1, \chi)|^2 + \frac{1}{\pi^2} \frac{p(p+1)}{p-1} \cdot |L(1, \chi_2)|^2 \\
 &= \frac{1}{\pi^2} \frac{2p^2}{p-1} \sum_{\substack{\chi \bmod p \\ \chi(-1) = -1}} |L(1, \chi)|^2 - \frac{1}{\pi^2} \frac{p^2 - p}{p-1} \cdot |L(1, \chi_2)|^2 \\
 &= \frac{(p-1)(p-2)}{6} - \frac{p}{\pi^2} \cdot |L(1, \chi_2)|^2 = \frac{(p-1)(p-2)}{6} - h_p^2.
 \end{aligned}$$

This proves Theorem 2. □

Finally, we prove Theorem 3. In fact, from the method of proof of Theorem 2 (see formulae (3.3) and (3.4)) we have

$$\begin{aligned}
 \sum_{\substack{\chi \bmod q \\ \chi(-1) = -1}} |G(1, \chi^2; q)|^{2k} \cdot |L(1, \chi)|^2 &= \sum_{\substack{\chi \bmod q \\ \chi(-1) = -1}}^* |G(1, \chi^2; q)|^{2k} \cdot |L(1, \chi)|^2 \\
 &= \sum_{\substack{\chi \bmod q \\ \chi(-1) = -1}}^* (2q)^k \left( 1 + \left(\frac{-2}{p}\right) \frac{\tau(\overline{\chi^2}\chi_2)}{\tau(\overline{\chi^2})} \right)^k \cdot |L(1, \chi)|^2 \\
 &= \frac{(2q)^k}{2} \sum_{\substack{\chi \bmod q \\ \chi(-1) = -1}}^* \left[ \left( 1 - \left(\frac{2}{p}\right) \frac{\tau(\overline{\chi^2}\chi_2)}{\tau(\overline{\chi^2})} \right)^k + \left( 1 + \left(\frac{2}{p}\right) \frac{\tau(\overline{\chi^2}\chi_2)}{\tau(\overline{\chi^2})} \right)^k \right] \cdot |L(1, \chi)|^2 \\
 &= 2^{2k-1} \cdot q^k \cdot \sum_{\substack{\chi \bmod q \\ \chi(-1) = -1}}^* |L(1, \chi)|^2 = \frac{4^k \cdot \pi^2}{24} \cdot \varphi^3(q) \cdot q^{k-2} \cdot \prod_{p|q} \left( 1 + \frac{1}{p} \right).
 \end{aligned}$$

This completes the proof of Theorem 3. □

**Acknowledgment.** The authors would like to thank the referee for his very helpful and detailed comments, which have significantly improved the presentation of this paper.

*References*

- [1] *T. M. Apostol*: Introduction to Analytic Number Theory. Springer, New York, 1976.
- [2] *T. M. Apostol*: Modular Functions and Dirichlet Series in Number Theory. Springer, New York, 1976.
- [3] *J. B. Conrey, E. Fransen, R. Klein, C. Scott*: Mean values of Dedekind sums. *J. Number Theory* 56 (1996), 214–226.
- [4] *L. K. Hua*: Introduction to Number Theory. Science Press, Peking, 1964. (In Chinese.)
- [5] *Ch. Jia*: On the mean value of Dedekind sums. *J. Number Theory* 87 (2001), 173–188.
- [6] *H. Rademacher*: On the transformation of  $\log \eta(\tau)$ . *J. Indian Math. Soc., n. Ser.* 19 (1955), 25–30.
- [7] *H. Rademacher, E. Grosswald*: Dedekind Sums. The Carus Mathematical Monographs No. 16, The Mathematical Association of America, Washington, D.C., 1972.
- [8] *A. Weil*: On some exponential sums. *Proc. Natl. Acad. Sci. USA* 34 (1948), 204–207.
- [9] *W. Zhang*: A note on the mean square value of the Dedekind sums. *Acta Math. Hung.* 86 (2000), 275–289.
- [10] *W. Zhang*: On the mean values of Dedekind sums. *J. Théor. Nombres Bordx.* 8 (1996), 429–442.

*Authors' address:* Tingting Wang, Wenpeng Zhang, Northwest University, Xi'an, Shaanxi, P. R. China, e-mail: [tingtingwang126@126.com](mailto:tingtingwang126@126.com), [wpzhang@nwu.edu.cn](mailto:wpzhang@nwu.edu.cn).